Year 5 Homework, Summer Term Week 8
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5. 3/8 of a sum of money is 24p. Find 7/8 of the

2% +6/8 =
2/7 x 17

5% of 3000 =
Find the next 2 numbers in the sequence.
3.65,3.8,395, __ ,

sum of money.

6. A 12- day holiday started on Friday 26 March.
On which day and date did the holiday end?

\_

Maths: Speedy Six
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Comprehension

Complete the reading comprehension.
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Spellings
Core Support
shyness vibration
slyly inflation
varied dictation
variable nation
replicate action
physical relation
individual other
there’s mother
replica door
flies imagine
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Optional Maths Extension:
One bonus house point available

A box contains 2.6 kg of washing powder.

washing
powder

2.6kg

Jack uses 65 grams of powder for each wash.

He uses all the powder.

How many washes did Jack do?

Homework is due in on 27t June



